ldr oA T, 2.2L, MINTRHEGOLDA'S; o perihsy ;2012 o (ZA4-

e 5.X : = =0 @
X — o9 X A +3/XZ —_—
— 7o
1
X’f—ao — 3
: \f"(
B L (L], CRS iy, i
X —=0-0 O.L.K X xX—=0-0 @ ) X—20-0 ’J/L.X-L)(U'\—K
\ID
0 @
O_L —‘.V('\x :-Q:O @
L% Rm0ms Lk ewokx P o—
a{ L L(«AX)@
U ,L_ (f»;x)t"x:/(;_ P . g A,
)(—9--0 x—=220 @ - ‘
. P x
L, ’qub(o_x - L £ k=) é“ﬂ; %)Q
?s-—)-,z-o k"t‘;,ﬁo "tﬁxsso x—%_o (:’Lx)
X,‘_ (—LX wsX) = D @
k-—*b--—o
0
Tkt Lo (a_‘_x)!c”= e .—.J_ &

w




Y 2x31 -3 'le—4l® 2
B il C7lx=¢] &
| e ,5’ Jaxe1 + 3 \ Vaxsr +3 3‘ | (
| £

Lo Ix=4[C %w J (£]= 22 @
L

[ = X FOX] Ixixe2)F D R\for-7]

Sl x (x-2) ¢

JWQ};&WW Q_A/‘,_‘M OJi’a_Ln.,\-@

X“-‘-O“L"‘-'— .
PR T P A L T . R I
X—0*0 (01-’2_)(0-’1) x—=0ro0 X ¢ ,
Mgt B3 V@
~4 e
X =+ Aa
: 3
L {(x):_%___l_f 1 - f""’/ A._-lfn-v(./{..j/\
xve’ (L yate Xt bl @
>0 + o2

L'_ f(w)*L_L (x+2) =0 - ‘J"‘”\W,




— 23—
("f - f(x):z[x-};(-;—z)f L x¥ 0

@h 0‘ A'-u)(':o

W x¥o, oMo £ LA AY - LA

.y
f((K) - 4_.(;(-5)4_)(.%(%&).(_2).)%3

X=20-Loo ] AAfr,, ok R xn=
{0y L wsx(Be)~o 7% N
X909 A3

1
=

®
<

z

s O

AA

o B




p . =[-1+t) ¢ 2 g A

ML 2552 &3

0¢ X ¢ &§} == Qﬂz[q £§3}
b, g ®

R 4= Lo 571 0= R <[4, PRACIEASE VA E
=[3-2mw, B2

1 —_—

({_4)!(“:% w(%—c}x)(f) ®




(@ (==

6/ i(x):xz}_\;( Dl::(O‘,J-M)
4 {f(x;-;'zy,e.\x+x2‘-:? = X (24X 44) @
bl ¢ 3
190 =2 Xt XS = 24xE T >0 x> 3
& %y %
X[ 0Cx ¢ e e A T
1] - 0 + ®
nndd |
4 N ] Yo
% % T -7, %
@L{ /(< {2}13 .(*%); £'(€ ?) =2 %(——")!—1):-?.—2%
T ( 3 3 =% s =Y
E i fT-”T"‘:{(K;-[x@XO]/ /?«z‘l'—z-{ -_:__Z‘e_ Z.(X"‘-f. /2) @
;{@i(*" x ' {f(x]ﬂ x"'w-x-b(@: Ft,—xl N (’H—)()l'Z—?\’)@
Coxta ! ) (x¢)? (X 6)* K+4)
% { ) Q
F {0dg>0 = —2¢wit2 0
f'—}(l X C~1. -2 ~2 Cx C +2 +2 +2Cx g
7 = 0 + 2 . ®
LA.
] R - A 1 N .
b 4 A A EES aaie b, | Ghdy ahcbeola. falomd
@/ ! p v
M 4_[0,4] "'""tz""”“’(‘(""""""‘ AM"MW\/

- 1 ’ 1
=8 ; 2] = S A (Y L R
fo)=0 ; futl=—==2 . [ Tl

— o SR
ey

TJ\A‘/{' %’ﬁWM-KAM\MW\ Q[O,L{.]m:/‘-'__h-‘ {(1).:_%‘_ @




¢l

8/

f(K]“ (L(K3+X))

(

(] == 3~
{ (x) %(L(K3+><)?- b 4

X2+ X @
?,(KP fix
v 7’ (x) = (Q'&'K"'Xd’“x) _ X‘VLX‘QK
» ®

) 0 (’BK) ; :
X—0 o (2¢%) ] x—9 -]
o '5}(
2

(W | s +3 "-"7‘7
r )

!

SO
i (}A/(K-er)
f =5 @

)<._91X1-)r-—)4 B
M “4"'4"' =




